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: A circle touches all the four sides of quadrilateral ABCD whose sides are AB = 8.4 cm, BC=
9.8 cm and CD = 5.6 cm The length of side AD, in cm is:
Udh gcd, AB = 8.4 cm, BC = 9.8 cm 3R CD = 5.6 cm qoI_¥1l dlel b AGH ST ABCD

&1 gl ol S W Bl 8 | oIl AD &I ofdrs (cm H) =ITd &Y |

(a) 4.9
» (b) 4.2
(R
(d) 2.8
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1
If'2:':r,12 — 8x — 1 =0, then what 1s the value of 8x> — x_3

IJfe 2x2—8x— 1 =078, © 8x3 ——Tﬂqﬁgﬂﬁaﬁl

3

» (a) 560

(b) 540
(c) 524
(d) 464
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If 3tan0=2/3 sinB,0°< 6 <90°, then find the value of 2 sin226 -3 cos?3 6.

Ife 3tanf=2+/3sin0,0°< O <90° B, T 25in220 -3 cos?3 0 BT A HATd BN |

(a) 1
» (b) 3/2

(c) 1/2

(d)-3/2
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"In AABC, Z=90° and Q is the midpoint of BC. If AB = 10cm and AC = 2+/10 cm, then

the length of AQ 1s:
AABC H, ZC =90° 3R Q, BC &1 74 fdg 21 afd AB = 10 cm 3R AC = 2410 =, ai
AQ BT 9IS FTd BN |

(a) V55

=P (b) 53
(c)5V2
(d)35
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- A and B can do a certain work in 18 days and 30 days, respectively. They work together for 5

days. C alone completes the remaining work 1n 15 days. A and C together can complete Eth
part of the same work 1n:

A IR B T fAfTd T &I &AM 18 f&T 3R 30 & & @ T Hhd 81 T 5
feet & foIT T @ M FA &1 C 3Hhell AV SR AT 15 Sl H G I gl A
3R C AT AT T & 5/6 HAET H fohdel FAT A QW I Fohd g

(a) 6 days
(b) 8 days

» EKEE

GEXEVE
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f A train running at 40— km\h takes 24 secound to cross a pole. How much time (in secound)

will it take to pass a 450 m long bridge?

40§km\h£ra1?~riraaﬁmﬁrwiﬂvnﬁwwﬂﬁwmﬁmmw

(a) 56
(b) 52
(c) 60

=) (d) 64
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N | 1
If x* + —- =727 ,x>1, then what is the value of [r— —J ?
X X

gfe x* +—-7"7x>1%?‘ﬁ[ ]Eﬂﬂﬁgﬂﬁaﬁ|

X

(b) -6
(c) -5

=P (d) 5
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Find the greatest value of b so that 30a68b (a>b) 1s divisible by 11.
b &T 3AfSread a9 Sird &Y, rad 30a68b (a>b) &A1, 119 faursy 81 |

(b) 9

=P (c)3

(d) 6



8
-i-l

afy x—Lo12, A BT A S R
X X

(b) 119

» (c) 47

(d) -1
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If 3sec @ + 4cos 0 - 4+/3 = Owhere @ is an acute angle than the value of @is:

AT 3secH + 4 cos @ -443 = 08, 0 Y- ®IvT B, I O BT 919 ST BN | |

(a) 20°
» (b) 30°
(c) 60°
(d) 45°




The average of eleven numbers 1s 56. The average of first three number is 52 and that of next

five number i1s 60. The 9th and 10th number are 3 and 1 more than the 11th number

respectively. What is the average of 9th and 11th number?

YRS AR BT 3AAd 56 © | Ugcll diF A&II_N T 3A9d 52 & 3NN WAl 9id
IR BT 3ad 60 2 | A Y <udl ¥, aRedl 9= 9 I 3 3N 1
Afre 2| A IR AR =R BT AT AT P | |

(b) 52
(c) 52.5
(d) 54
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AABC ~ADEF and the area of AABC1is 13.5 cm? and the area of ADEF is 24cm?. If BC = 3.15

cm then the length (in cm) of EF 1s:
AABC ~ADEF & 3R AABC &1 &3%d 13.5 cm? 8 3MX ADEF &I &3%d 24cm? 2 |
Ife BC=3.15cm 8, Al EF @I dars (AL ®) S1d & |

(a) 4.8
(b) 3.9
(c) 5.1

=) (d) 4.2
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A trader bought 640 kg of rice. He sold a part of rice at 20% profit and the rest at 5% less. He
earned profit of 15% in the entire transacting. What 1s the quantity (in kg) of rice that he sold

at 5% loss?

Udh faspdr 14 640 kg dTdel W< | 91 AAd &I U HIT 20% o™ WX §497 3R o9

HIT 5% B G 991| qR o9e9 7 S8 15% oM AT SUD g1 5% Bl 817 W
4 Y gEad b1 qGEr (feur #) sra a0

(b) 132
(c) 154
(d) 256
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. The cost price of an article 1s Rs 280. A shopkeeper sells 1t by allowing 16% discount on its

marked price and still gains 20%. What is the marked price (in Rs) of the article?
Uh JE F T Hed 280 TIY §| Th gHEICR $H $8F 3ifohd Hed T 16% A FT o 9adT ¢

3R TT 3 20% &7 T 9T HIAT 81 aFd FT 3fhd Hed (¥ H) &1 82

» (a) 400

(b) 360
(c) 420
(d) 350



- Atul purchased Bread costing Rs 20 and gave a 100 rupee note to the shopkeeper gave the
balance gave the balance money in coins of denomination Rs 2, Rs 5 and Rs 10. If these
coins are 1n the ratio 5:4:1, then how many Rs 5 coins did the shopkeeper give?

AqA 20 T YoF dlell s WGl 2 3HIX §HFER Bl 100 ®IY &I I <dl 2 |
THFERR 2, 5 X 10 Jed I @ fygwl d A9 g9 qar 2| I 37 Rigwl a1
IAUN 5:4:1%8, df gHMER 5P fhad fad qar 272




